2213

B M 2 |[Ea(Mm) M %
B R K 04 | JS G332 #EBR55%7 430 h-E530- 48R COLCC
® % 12| JS G331 BRSSHIAR0A-BhAEH- 4R SOLCC
BB b9 AA25 12| JIS G332 BEARO5%7 A3 -0 -BRA%H- X COLCC
oo 125 1t CEED> 0% BAZSS | 16 | JIS G3312 2EwMEH®- S8R COCC
s T > o A-A20 1| JIS 03322 258R55%7 43 -4 -kA%H- SR OLCC
’ 55 24075 N CoP BAZ95 10> T (- 8> | 1.201.0) | JS 63322 BEAR55%7 13204 -ERA%H- 4l CGLOC
T T— 102 93 BEL Al T A B | 1.000.8) | JS 0352 BEaRTET N0k -RARH- TR COLCC
ELDKLmE (BH3E) | 1.2 | JS 63322 $5aR55%7 M3 -0 A-Gko8h- @R COLLC
* IR AEE 0.8 |5 CR3I0 EERRSSTI M= h-54520- 58 CBLOC (9-1515-)
R i ai f A & TL— 12 FHA-0LBERBIM
=3 =ls 213 8|S iR o|® TL—w 0.8 | JIS 03322 RERRS5%7A: 75 ERASH> 58K CGLOC
oIE Z|S SIS % SIS 2|8 BE LS 0.5 |5 G322 BEHR5E%7A3-7A-E2A2H- 588 COLCC (9-hun5+)
e P ©|8 pa 2|2 o3 = N @ L& 05 | JIS 63322 #ERR55%7A3 -9 4 —ERA%H- 48K CGLLC
= o IR = 5|8 e B2 = # 0.8 | S C3370 #KARSE%7)3=0A-TkAEM- ¥Rk COLCC
i 2 10 8 | o ANCAE ® (0 0.6(0.8) | JIS 63322 BERR55%703 -0 454424, 58K CGLLC
g Ly S CRENNL 05 | JIS 63322 #ERRS5H7A: 74 —ERALH> 48K CGLLC
4 : sy A - W % AB 1.0 | U1 63322 2uR55%7A3-94-E82%- £ COLLC
8| O / EEXM W & 05 | J5 63322 $AR55A7A -5 —FRA%H 1K COLCC
= : i o / T ‘ J—W . " & 10| JIS G330 REARS5A7 N3 Z04-BRASH- 4 COLCC
AFOM10545 ‘ Al 5 * R 0.6 | JS 63322 2ERR55%7 430442~ 48R COLCC
ZEREHM 1768.5 | [Z—TJ@] ZRAHRT 2071 1285 | EAFHRIT 2037.5 47 FUA-FL—+ (L) 23 IS 63302 FRELD - 8K SCCC (LBEH L)
(&2 18625 [#- 78] 1514 [9ES] ERABRG 20375 213
3376.5 2213 ~ EEE Y42 (MXES)
[MEBE | FBEE (S=1s0) A [C (HO 599 X 1938 (2178)
FH UG (S=1s0) B E T H (S=1s0) §il£§é’f§g}§?;”“° RE LC O 599 x 1938 (2178)
% O ATER. Ho« TERT, % O WTEE. Ho4 TERT . : REEEMT . zﬁzt t"? E:'g 352 i }g;g g”gi
e (A 670 x 1160
b AA20 e (C (HoO 553 X 1909 (2149)
24045 1.2t
1862.5 ? 1512 BrEL A BRIR sEL &
70 [ 6705 31 670 31520 |, 6705 31 6105 | 70
o I T oE | = 2 - gt
T i * A dmﬁ;@/'i ELDKE# & I |
0 " ; 32 2ls
5 © _ _ | RIS
| SE N i -
® S| i
o S P FQ e o -
S N 2 S z fEae > «
P S =
W= — %
[ca]
. 3 gl 81 70 | HEZ
© i _ _| N\ &
T &
o~ 5 - —t ENEDRS 2071 70
= 2 e e = _
70 1138 5535 1372 70 90 16825 olll70 1 70 [#—J V8] BEtE (5=1s)
3 70 70 2 % O W HEE. Ho« IRRT,
X <SHERTRERT,
F @\ (S="150) w 1R (S=150)
% g]: N ~ ~
ARKYE T)VEIVE ——— H 1) =
s 202 )| B ST
LMD(S) -1822 (H) +LKD(S) -1522(H)

<LMD(S)—1822(H)+LKD(S)—1522(H)_A_O.DXF >




